
Written Exercises
Simplify.

A r. sV3 - ot/1
c. sVso - rzfs
t. zfi - qt/ot
to. -+t/ls + zt/t+t
ts. s\/ts - ot/i + t/n
s. s{n + zfi - \/A
n. -t/zn - tzw + t/toz

z. s\/5 + +t/s
s. sV5 + zfls
g. z\/as + n/N
n. -lr.'/s-t\/i

Answer

t -nr/n - tf n
e. -zt/u - r/e
g. sfn-zfu

n. {rn - st/x

Sample
tt \/3Vts - ./9: Vtsv5 \/5

: \/ts - 9'It\/5 \,3:\/rs-g
5

- sVts - VT5
5

14. -4\fz + oftz - a\/i
tc. -zt/tz + ot/i - T/ns
18. 4\hn + s{N - sf n6

zs. sVTo - tf n. tJ+
ro. ,ffi.,F-+v6o
tz. sl/1@rfs - zt/il

_ q\/E
5

B re.

21.

23.

25.

tl\3
.,H

F\t
E-vt

fa-
zt/15

E!7-
- lte)Vt

,)

zt. tr/i - zln. oJ*
=l:zo. zll * 4V+ - +./el

sr. sVl(lo + zt/E)

Simplify. Assume that atl variables represent positive real numbers.

t+. +fiil - 2yV2cr,?

,r.f-rE
36.

C ts. zf +gF - 3\/T6F
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